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QUESTION 1

What are two attributes of Desktop Requisitions? (Choose two) 

A. Line Type 

B. Order Unit 

C. Tax Exempt 

D. Delivery Date 

E. Order Entry Type 

Correct Answer: BD 

 

QUESTION 2

Which action changes the status of the newly created Work Order to QUEUED? 

A. Approving a Work Order 

B. Selecting an Owner Group 

C. Applying a Job Plan to the Work Order 

D. Creating a Material Request for the Work Order 

Correct Answer: D 

http://www-01.ibm.com/support/knowledgecenter/SSMAZG_7.1.1/com.ibm.mms.doc_7.1.1/pdfs/mmw m711_user.pdf 

 

QUESTION 3

To distinguish IT assets from other types of assets, administrators define a top-level IT asset class in which
application? 

A. Sets 

B. Assets 

C. Organizations 

D. Classifications 

Correct Answer: D 

Reference: 

http://pic.dhe.ibm.com/infocenter/tivihelp/v58r1/index.jsp?topic=%2Fcom.ibm.sccd.inswl.do
c%2Fsccd_install%2Ft_specify_toplevel_class_IT_assets_software.html 
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QUESTION 4

Which application allows licenses to be associated with contract line items? 

A. Licenses 

B. Master Contracts 

C. Deployed Software 

D. Software Contracts 

Correct Answer: D 

 

QUESTION 5

What must be true in order to reconcile the balance of an item? 

A. An open financial period exists. 

B. A default bin is listed for the item. 

C. An asset exists for the rotating item. 

D. A default vendor is listed on the inventory record. 

Correct Answer: C 
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